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Les nombres entiers
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. a) Reculer de 10 pas. b) Gagner 50 §.
) Descendre de 2 éages.

3
n sus 03

4. -30°C,~11 °C, ~10 °C, -3 °C, 0 °C, 3 °C, 11 °C, 12 °C.

b) 7,-5,-3,-1,4,6
a) 10 b) 19 o 67 d) -2000
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Les nombres entiers
1. a) +500 b) 200 o 287
d) -500 €) 3 f) 8

. a) 2 b) -12 o +6 d) 8

3 — et
q0 53 024 8

4.a) 8 b) 5 o 3
a0 € x )y

5. a) 0 b) 2 o 3

6. 20,-12,-10,-2,0,15,23

7. a) < b) < o =
d) < €) < f) >

8. A:-18,B:76,C:0,D: 14,E:30.

9. ) 0 b) 5 o 7

10.2) Fasse.  b) Vrie. ¢ Fasse.  d) Vraie,
11.-321,-312, 231, 213,-132,-123

12. Plusieurs réponses possibles. Exemple :
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